huit-mille-cing-cent-
cinquante-six

8 000 +500+80+4

(8x1 000) + (5x100) +
(8x10) + 4

8 000 + 500 +40 + 8

8U 8M 5D 4C

huit-mille-cing-cent-
quarante-huit

(8x1 000) + (8x100) +
(5x10) + 4

5C 4U 8U 8M

5000 + 300 + 40 +8

5C 3M 4D 8U

cing-mille-trois-cent-
quarante-huit

3C bM 8U 4D

(5x1 000) + (3x100) +
(4x10)+8

(5x1000) + (4x100) +
(4x10) + 8

500 + 30 + 8 + 40

cing-mille-trois-
quarante-huit

quatre-mille-quatre-
vingt-trois

(4x1 000) + (8x100) +3
4 000 + 800 + 30

4C 8D 3V

quatre-mille-quatre-
cent-trois

4000 +80+3

4M 8D 3U

(4x1 000) + (8x10) +3

Ecole de Crevette



sept-mille-cing-cent-
soixante-six

7000 +500+70+6

(7x1 000) + (5x100) +
(7x10) + 6

7000+700+50+6

7UBM 7D 6C

sept-mille-cing-cent-
soixante-seize

(7x1 000) + (5x100) +
(6x10) + 6

5C 6U 7D 7M

3 000 + 100 + 10 +9
3M 1D 9V
trois-mille-dix-neuf
3C IM9U
(3x1 000) + (1x100) + 9

(3x1 000) + (1x10) + 9

3000+10+9

trois-mille-cent-dix-
neuf

six-mille-soixante-
douze

(6x1 000) + (8x100) +
(7x10)

6 000 + 800 +7
6C 8D 7U
six-mille-soixante-dix

6 000 + 800 + 70

6M 8C 7D

(6x1 000) + (7x10) +8
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trois-mille-six-cent-
quatre-vingt-quatorze

3000+ 600+ 80 +4

(3x1 000) + (6x100) +
(9x10) + 4

3 000 + 600 +90 + 4

4U 3M 9D 6C
trois-mille-six-cent-
quatre-vingt-quatre

(3x1 000) + (6x100) +
(9x100) + 4

| wmec || PG

6C 9U 4D 3M

7 000 + 800 + 10 +6

/M 8C 6V

sept-mille-huit-cent-
SiX

7C 8M 6U
(7x1 000) + (8x100) +

(7x1 000) + (8x10) + 6

7 000 + 800 + 6

sept-mille-quatre-
vingt-six

cing-mille-quatre-cent-
soixante-douze

(5x1 000) + (4x100) +
(7x10)

5000+400+70+2

4C 7D 2U B5M

cing-mille-quatre-cent-
quatre-vingt-douze

5000 +400+70+20

BM 4U 7C 2D
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(5x1 000) + (4x100) +
(7x10) + 2




deux-mille-cinquante-
sept

2 000 +500+7

(2x1 000) + (8x100) +
(5x10) +7

2000+50+7

7U 2M 5D

deux-mille-cing-cent-
sept

(2x1 000) + (5x10) + 7

5C 7U 2M

9 000 + 600 + 5

8M 6C 5U

neuf-mille-six-cent-
cinquante

6C 9M 5U
(9x1 000) + (6x100) +

(9x1 000) + (6x10) + 5

9000+60+5

nheuf-mille-six-cent-
cing

(3x1 000) + (6x100) +
(4x10) + 2

3000+ 600+40+2

6C 2D 4U 3M

trois-mille-six-cent-
quarante-deux

3000 +400+60+2

3M 2U 6C 4D

(3x1 000) + (6x100) +
(4x10) + (2x10)
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